Subtraction word problem: up to 10

In each case solve and answer in the spaces provided.

® Khaleb’s mum has 8 bunches of flower. Yesterdog, she gave 5 bunches to Steve's -

mum, her neighbor. How many bunches of flower does Khaleb's mum have now -\~
i |

 Sir Edmond has a big stable with 6 horses. Last night, 2 horses escaped from the

stable. How many horses does he have left ¢

 Uncle Peter’s pet gave birth to 10 puppies last month. Yesterdog morning uncle
Peter gave 2 puppies to his father. How many puppies does Uncle Peter's pet
have left?

& It's christmas holiday. Mike's Dad bought him 7 inflatable balloons. He started

blowing 3. How may balloons are left untouched ?
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Subtraction word problem: up to 10

In each case solve and answer in the spaces provided.

Khaleb's mum has 8 bunches of flower-. Yesterdog, she gave 5 bunches to Steve's

mum, her neighbor. How many bunches of flower does Khaleb's mum have now ?
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Khaleb’s mum has on|9 3 bunches of flower now.

Sir Edmond has a big stable with 6 horses. Last night, 2 horses escaped from the

stable. How many horses does he have left ¢

Sir Edmond has 4 horses left.

Uncle Peter's pet gave birth to 10 puppies last month. Yesterdoy morning uncle
Peter gave 2 puppies to his father. How many puppies does Uncle Peter's pet
have left?

10 |-| 2 |=| 8

Uncle Peter’s pet has 8 puppies left.

It's christmas holiday. Mike's Dad bought him 7 inflatable balloons. He started

blowing 3. How may balloons are left untouched ?

7 |-1 3

4

There are still 4 balloons untouched.
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